Divide by 0.1 (G)

Find each quotient.

1.94 +0.1= 1+-01=
1.9992 - 0.1 = 247 - 0.1 =
558 +0.1= 19+01=
1.1+01= 2+01=
3.75+ 0.1 = 26 +01=
4.08 +-0.1= 7.7119 - 0.1 =
2.8473 + 0.1 = 6.7 +0.1=
8.878 - 0.1 = 5.3166 - 0.1 =
5.543 +0.1= 1.44 + 0.1 =
533+0.1= 5.324 +0.1=
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Divide by 0.1 (G) Answers

Find each quotient.

194+0.1=194 1+-01=10

1.9992 + 0.1 =19.992 247 +-0.1=24.7

5.58 + 0.1 =55.8 1.9+0.1=19
1.1+01=11 2+0.1=20
3.75+0.1=375 2.6 +-0.1=26

4.08 +- 0.1 =40.8 7.7119 +0.1=77.119
2.8473 + 0.1 =28.473 6.7 +0.1=67

8.878 =~ 0.1 =88.78 5.3166 + 0.1 = 53.166
5.543 +- 0.1 =55.43 144 +-0.1=144
5.33+0.1 =53.3 5.324 +- 0.1 =53.24

Math-Drills.Com




